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FORENSIC SCIENCE
Paper - 11
Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. Attempt all the questions.

In India, Bureau of Police Research
and Development was established in
(A) 1963 (B) 1965
(©) 1970 (D) 1974

The book entitled ‘Questioned
Document’ was written by the
following :

(A) Harrison (B) Hilton

(C) A.Osborn (D) Quirk

Match the following :
List -1 List - 11
(a) Krogman (i) Toxicological
analysis
(b) Stass-Otto (ii)) Forensic
Ballistics
(c) Kozelka  (iii) Forensic
and Hine Anthropology
(d) Goddard (iv) Blood alcohol
determination
Codes :

(@ () (¢ ()

A @ @) () (@[Qv)

B) @Gv) () @) (i)

(©) (@ (@Gv) @) (@)

(D) @) (©» (@av) (1)
Assertion (A) : Seminal stains on
cloth should be

collected, after

drying, in room

temperature.
Reason (R) : It causes

disintegration  of
seminal stain.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C©) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Beer’s and Lambert Law is the basic
principle in

(A) TLC

(B) Spectrophotometry

(C) Neutron Activation Analysis
(D) X-ray

The gas carrier phase is used in
(a) HPLC
(b) Atomic Absorption

Spectrophotometer
(c) GCMS
(d GLC

(A) (c) and (d) are correct.
(B) (a) and (b) are correct.
(C) (b) and (c) are correct.
(D) (a) and (d) are correct.

Image of body organs can be
obtained by which of the following
instruments ?

(A) AAS

(B) Polarising Microscope

(C) Fluorescent Microscope

(D) NMR

Match the instruments with the
material analysed :

List -1 List — II
Instrument Material
(a) Electron (i) Bullet
Microscope
(b) Electrophoresis  (ii) Alcohol
(c) GLC (iii) Hair
(d) Comparison (iv) Blood
Microscope
Codes :

(@ () (© (@)
(A) (i) @Gv) (@) @1)
B) @ (@) (Gv) (i)
© Gy (@@ (a6i) ()
(D) Gv) @) () @)

FID detector in GLC is most suitable
for the detection of

(A) Gasoline

(B) Insecticide

(C) Alkaloids

(D) Barbiturates
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=g fafy o=
T A - 11
AT: T WEIT H g (50) Sg-fohodid WRH ¥ | Udsh U % &t (2) 3k § | ;e
T & IS |

I wRe F o e o e o 6. T URERET STer o UANT foRed Bl € 2
it g (a) UEHLECAEL
(A) 1963 (B) 1965 (b) T TSHIER WHRIHRHET
(C) 1970 (D) 1974 (c) Si.H.uA.ud.
2.  ‘FOEUE TRHS TXAF H oREh (d) .U
£ (A) (c) 3R (d) TETE |
(A) @& (B) fee (B) (a) 3R (b) WEE |
(C) waEH (D) & (C) (b) 3R (c) TE |
3. e o gufaa S (D) (a) 3R (d) W€ |
Thr - 7. W s w ofy B 5 @ feg
@) (i) o fomt IO H T Sl ST Tkt & 2
fororaren fargeivor :
wE-ate (i) faty (A) TLTH.
(b) ()Wwﬁw B e .-
(c) HiSfeshI e (iii) fafg  wFa- (C) TARRIE HTZshehd
eS| fasm (D) TA.UH.3R.
(@ S ) T | g o vt v e @
e : gHferd it
@ (b (© (@ Tt - 1 et - 11
EEEe T
© & i O () e
D) Gi) () Gv) (i) AR et
4 SREETA) ;S F TS W (b) TIIEREE (i) TR
i 1, R AT (c) Sh.uAdL (iii) T
o g wW, T (d) RS (iv) T
ST =R | TTEhITh T
& (R) : I8 Ag-Yss o e :
feeT AT | @ () (© @
(A) (A) 3R (R) S TEE | (A) (i) @Gv) () @)
B 0y R
(C) (A) WY E, T (R) Terd & | ©) (v (i) @)
(D) (A) T &, T (R) T | 9., SILUA.EL U U.STE.Sl. Ggah Jg ST
5. ??@WWWWW ag%{q?;jm%:
A) Foed. (A) [z
B i ®) T
(C) I TR FReoT (C) Teheites
(D) T (D) dNfeeged
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10.

11.

12.

13.

14.

Assertion (A) Presence of

vaginal epithelial cells on the male

genetalia is conclusive of sexual

intercourse.

Reason (R) : These cells can be
detected by lugol
iodine test.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Arrange the cells in an ascending
order as per their size :

(A) RBC, WBC, Platelets

(B) WBC, Platelets, RBC

(C) RBC, Platelets, WBC

(D) Platelets, RBC, WBC

Which of the following information

cannot be obtained by the
examination of blood stain ?

(A) Race

(B) Sex

(C) Cause of death

(D) Origin

Assertion (A) : Endosulfan is an
organophosphorous
compound.

: It is derived from
esters of
phosphoric acid.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.
(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

Reason (R)

Greenish coloured urine is seen in
which of the following poisoning ?

(A) Nitric acid

(B) Carbolic acid

(C)  Sulphuric acid
(D) Hydrochloric acid

15.

16.

17.
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Match the following :
List - 1 List — II
(i) Reinsch’s Test (a) Dhatura
(i) Alkaline Beam (b) Arsenic
Test
(iii) Vitalis Test
(iv) Marqui’s Test (d) Hashish
Codes :
(1 @) (>G) (1)
A (@ (b (© ()
B) () (© (@ (@)
© (© @ (@b (@
D) b @ @ (©

Assertion (A)

(c) Morphine

: Breath  analysers
work by a type of
chemical reaction
called  oxidation/
reduction.

: The breath changes
to greenish colour
depending upon the
quantity of alcohol
in breath.

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are correct.

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Reason (R)

Assertion (A) : Ricochet bullet
causes a key hole
entry.

: The bullet tumbles
after hitting an
intermediate object.

(A) (A) is true, but (R) is false.

(B) (R) is true, but (A) is false.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Reason (R)

The feature of an entry wound
caused by a revolver from a distance
of 6 feet

L Abrasion collar present

II.  Singeing of hair present

III.  Grease/dirt ring present

IV.  Wad injury present

(A) TandII are correct.

(B) II and IV are correct.

(C) Iand III are correct.

(D) III'and IV are correct.



10. AHFHIT(A) : /Y foT W AN 15. T=TeIRae sl gHTeTd ShitT
IR HIRTRISAT Tt -1 e — 11
Iuferfaq 9T 8 () =T oo (a) o7
ad O () e
& (R e B2 o (ii) (©)
®) per ST (iv) ARG Uetr  (d) efereT
Wi o :ﬁ%‘f—“ A B G G )
e A b d
(A) (A) R (R) S T E | A (@ b (© (@
. . B) ® © @ (@
(B) (A) 3R (R) I TeAA € | © @© @ ® @
(C) (A) WEIE, = (R) Torq & | D) b @ (@ (©
(D) (A) T E, W (R) Tl € | 6. af (a) :wm =
11, SRR B ST AR B SFER SRR / ST
‘ qEEHF iashar &
RIET 561 H W | T FE R E |
(A) SR, sogeirat, TR o forwaiy & (R) g ek @ A
(B)  Scgealt, T o forearey, TReirelt URER @ ST §, S
(C) 3RE, T o Ty, Sseagaadt g o UeTshiEler i
(D) 7o 3 faway, aeael, Ssogae AR R
(A) (A) 3R (R) FHI T £ |
12. frefafed § € o9 @ THER @ F (B) (A) 3R (R) T HEIE |
¥feall o TRITOT W U el ohl S Hehell ? (C) (A) TEIe, R (R) TT& |
(A) & (B) fomr (D) (A) T €, WA (R) T2 |
(©) FgHHRO (D) ITH 17. AMBAA(A) : o H AR g8 faehiFT
Tl ST weT B
13. M@= (A)  : TOSIEOHH Th A AT E |
AR EH R & (R) qeT I o] H e
gfeasor e | Y o U Mol
& (R) : TF IR TS % ST BT & |
TX ¥ e S (A) (A) TEIE, R (R) T & |
¥ (B) (R)ﬁﬁ,ﬁ%ﬂ;ﬁl
Y : ©) (A JA(R) l
(A) (A) 3R (R) ST | (D) (A) 3R (R) S Tora ¥ |
(B) (A) 3R (R) IH TeIq € | i
(C) (A) WEE, <] (R) T € | 18. 6gﬁﬁ§ﬁ@ﬁawm§qmw
T TRIT
(D) (A) T E, W] (R) Tl € | O e e |
14, Fretfetfiaa fost @ for Faw % a7 I %0 % SR 1 |
F U g e ? L 7/ efer =k st Sufefa
A . IV. 2R (d3) = =i 3uferfd
(A) (A) 13ARIEEE |
(B) e A ~
(B) MARIVEIE |
(C) TR e (C) T3RIMTEE |
(D) TRSEANG 3T%A (D) MISARIVTEE |
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19. Which of the following is not a fire 24. Assertion (A) : To determine ABO
arm ? blood group from
(A) Airgun  (B) Revolver semen, saliva s

‘ required.
(C) Shotgun (D) Pistol Reason (R) : Because secretor
status needs to be

20. Which of the following chemical is confirmed.
not a primer ? (A) Both (A) and (R) are false.

(A) Mercuric fulminate (B) Both (A) and (R) are true.
(C©) (A) is false, but (R) is true.
(B) Lead styphnate (D) (A) is true, but (R) is false.
(C) Nitroguainidine
(D) Lead Azide 25. Assertion (A) : Success of tool
marks comparison
d d th

21. The follovying ar‘ticles'are' commonly cgf’)riléts lrlgp())rlz)duc?
Preserved in rape investigation, except : tion of test marks.
(A) Pubic hair Reason (R) : Test marks vary
(B) Undergarments Wlth the Change m
(C) Vaginal Secretion g;gisurzngle and
(D) Foot prints (A) (A) is true, but (R) is false.

(B) (A) is false, but (R) is true.
22.  Which of the following statement is (C) Both (A) and (R) are false.
false ? (D) Both (A) and (R) are true.
(A) Medullary index of animal hair 26. Match the following :
is 0.3 or more. ‘ ‘ List — I List — II
(B) Curls of pubic hair are (a) Glass (i) Complex mixture
different than beared hair. of ‘ diverse
(C) Pubic hair are mostly found at . _ particles.
the sex related crime scene. (b) Soil (i) ~In the chip form.
. . (¢) Paint  (iii) Two surfaces
(D) Medullary index of human hair come in contact
is 0.3 or more. with force.
(d) Tool (iv) Qu@te brittle and
23. Match the tests with body fluids : C marks easily broken.
List - I List - IT odes: ‘
o o Uni @ ® © @
@ )  Urine (A (@) () (D) (iv)
(b) Urea  Nitrate (ii) Saliva B) Gv) (@) (@) (i)
Crystal Test ©) @Gy (@) @) @)
(c) Starch Iodine (iii) Semen (D) @) @Gv) @ (D)
Test . . .
27. Assert A) : Third |
(d) Teichmann’s (iv) Blood ssertion (A) prelsrent m(i)nar thl:
Test denture.
Codes : Reason (R) : Age of the person
@ M) (© () isb inilfi;cative of
(A) (v) GiD) () G) 1 (R) are sorres
. ) .. (A) Both (A) and (R) are correct.
B) @ Gv) Gy (i) (B) Both (A) and (R) are false.
© Gy (@ @) Gv) (C) (A) is true, but (R) is false.
(D) i) (G (>G)  (Gv) (D) (A) is false, but (R) is true.
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19.

20.

21.

22,

23.

efeIiad § 9 ®F 91 AT 37 T8l
g2

(A) TSR TH (B) RaeeR
(C) WET™ (D) T
efefad W@E § @ S 9 UgHS
(UTEHR) TET & ?

(A) IR fohie (RN HeHHe)
(B) UMl RREHE (718 WEHE)

(C)  TrgrquHters
(D) W USTES (TS TTEE)

TATHR 3T H AT (HTeARad
el § ¥ Thueh! B R Wfera frar
e ?

(A) T[T B2

(B) oTeie

(C) AMZA

(D) Wi fae

ffetfige o & S |1 U Tt § ?

(A) TN & del H HesThE 0.3
N THY AIH BT & |

(B) T AT & FUSA I & el
g & |

(C) TANT ST SR A T
Y A W ferd € |

(D) TG-S T AosTehish 0.3 37ar

Y AH BATE |

TREA0T ot TR 567 ¥ FRTTd i :
et - I el - 11
(@ d-30 i =

(b) Frear e (i) @R
[EgagReritil
(c) WE A (i) a4
ritiu)
(d) R T gLreqoT
HIE
@ (b © @
(A) (iv) (i) () (@)
B) () (@Gv) (G (i)
© @G (@@ (@) (@[Qv)
D) (i) (@@ () (@(Qv)

(iv) T&d

24.

25.

26.

27.

AU (A)  : o1 T USTST od TE
T [T4R0T 1 & fetu
TR ! AEITHATE |
& (R) :wﬁﬁwﬁf@r&r
q%%aa%aﬂaww
(A) (A) 3R (R) AT & |
(B) (A) 3R (R) AT TEIE |

(C) (A)TE, W(R)u@“r%|
(D) (A) TEe, W< (R) T & |

Afmer (A)  : SR Forel l qer
T A%eld, held

SR e @ @
T H U W W
R AT |

: TURT0T Te 3TN &
FOT AR TEE F
IREAT G I ST & |

(A) (A) TEI8, R (R) TT & |

(B) (A) T g, W (R) TN & |

(C) (A) 3R (R) A TAA & |

(D) (A) 3T (R) ST TEIE |

& (R)

ST |
(i) TEEFETH |
(c) U™ (iii) & HAe I Aed

(d2) W@?‘rﬁ i)
(d) SR (iv) %Wﬁmlr T 3R
faeT e
HIS:
@ b)) © @
A (1 @) () (@iv)
B) Gv) (@G (@) (i)

©) Gy @) @Gv) @)
(D) (i) @Gv) (@) ()

AP (A) : gAF TEUR  (3)
T el e |

% (R) : I8 b AT & B
M i 3Mg 18 a9
TIWE |

(A) (A)aﬁI(R)ﬁF@f%l

(B) (A) 3T (R) I eI & |

(C) (A) TEIe, R (R) Td & |

(D) (A) T &, W= (R) Tl € |
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28.

29.

30.

31.

32.

33.

34.

Mohs scale developed by German
Mineralogist, Friedsich Mohs in
1822 can be used in the analysis of
glass for measuring

(A) Hardness

(B) Refractive index

(C) Density

(D) Thickness

Anisotropic materials have
(A) Single refractive index

(B) Two or three principle
refractive indices

(C) No refractive index

(D) None of the above

Match the following :
List -1 List — II

(i) Edmund (1) Lip prints
Locard

(i) Galton (2) Anthropometry

(ii1)) Alphonse (3) Poroscopy
Bertillon

(iv) Suzuki (4) Fingerprints

(5) Palatal prints
Codes :

() (1) (i) (iv)
@ 3 #H @ @
B & @ @ O
<o @ 6 GO G
® @ 6 @O &

The legal age of marriage for a
female in India is

(A) 18 years (B) 21 years
(C) 20 years (D) 16 years

Which of the following bones assist
in the determination of stature ?

(A) Tibia (B) Mandible
(C) Macxilla (D) Calcaneum

Shovel shaped incisor teeth is seen
amongst

(A) Africans
(C) Indians

(B) Australians
(D) Chinese

The ossification centre that appears
in a fetus at seven month of
pregnancy is

(A) Pisiform
(C) Navicular

(B) Talus
(D) Lunate

35.

36.

37.

38.

39.
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Which bone helps to determine
accurately the sex in a fetus ?

(A) Femur (B) Skull

(C©) Sacrum (D) Hip bone

Rugoscopy is the study of
(A) Lip prints

(B) Finger prints

(C) Palatal prints

(D) Foot prints

Assertion (A) : Batley’s lens
possessing a
number of

concentric circles,
is a basic tool for
single finger print
classification.

: Finger print s
examined on the
basis of location of
core and delta in
these circles.

(A) (A) is true, but (R) is false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Reason (R)

Proportional spacing

characteristic feature is

(A) it gives space to each character
according to its size

(B) it gives equal space to all the

typewriter’s

characters

(C) it gives double space to larger
characters

(D) it gives half space to smaller
characters

Which of the following printing
technique is mainly used to print
currency notes ?

(A) Computer printing

(B) Letter press printing

(C) Intaglio printing

(D) Inkjet printing



28.

29.

30.

31.

32.

33.

34.

S @it Tl histesh AR 7 1822
H Hieq 99T o1 foenre o, 59 o
foretsroT o fohet 10T Rl AT § UgeRT foham
ST EHATE ?

(A) TSR (B) 3adHih

(C) =TI (D) #R=TE
fewefees yemet o g &

(A) UHeA ST |

(B) T 37ET T HeA 3T9acHIeh |
(C) o YuacHi® Tl |

(D) ST H 9 FiE e |

f=feriad i goferd it :
~1 et — 11
() UsHUE (1) B e
RIS
(i) e (2) HHaHA
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40. Dermatoglyphics is the study of Answer Q. 46 — 50 based on the
(A) Palmer creases following paragraph :
(B) Friction ridges A charred dead body of a
(C) Flexion ridges young female in a pugilistic attitude
(D) All of these was recovered from a burning house.
The airways showed black particles
41. Arrange the changes that appear in a and blood was found cherry red in
Cadaver in a sequential order : colour. Genital examination revealed
(A) Cooling, Rigor, Marbling, contusion and white sticky material.
Mummification.
(B) Rigor, Cooling, Marbling, 46. Pugilistic attitude is suggestive of
Mummification. (A) Rigor mortis
(C) Rigor, Marbling, Cooling, (B) Cadaveric spasm
Mummification. (C) Heat stiffening
(D) Copling.{,;\,/I ll)ili‘gor, Mummifi- (D) Decomposition
cation, Marbling.
47. The presence of black particles in the
42. “Glove and Stocking” pattern of airways is Suggestive of
lividity is associated in death caused (A) Chronic smoker
by ‘ o (B) Melanoma of airways
(A)  Arsenic poisoning (C) Inhalation of smoke
Eg; ganglng (D) None of the above
rowning
(D)  Electrocution 48. The smear of the sticky material
43. Hyoid bone fracture is commonly showed tadpole like objects which is
. X ) suggestive of
aZSOle\‘/tIed With v (A) Entamoeba Histolytica
(A) anua strangulation (B) Sperm
(B)  Choking (C) Maggots
(©) Gaggmg‘ ) (D) Mycobacterium hyphae
(D) Traumatic asphyxia
49. The ch d discolourati f
44. In forensic entomology, the bloe;) dcisegll;z tée iseofouration o
sequence of events in the life cycle .
. . (A) Carboxy haemoglobin
of an insect is .
(A) Eges. nymph, maggots, pupae (B) Red haemoglobin
££5, NYMpA, MASEOLS, pupac. (C) Cyanometh haemoglobin
(B) Maggots, eggs, pupae, nymph. (D) Oxy haemoglobin
(C) Eggs, maggots, pupae, nymph. y g
D) P h .
(D) Pupae, maggots, nymph, eggs 50. The accurate identification in this
45. If a person interprets a rope to be a Eold y fc an be established with- the
snake he is suffering from epo
(A) Tlusion (A) long bone fqr stature
(B) Impersonation (B) skull for rgglal features
(C) Delusion © DNA profiling from bone
(D) Hallucination (D) size of the uterus
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